QUTD i hla
Dige. Sec .\/blo,\c\o

RS Condleg _—

. L[’%& C.o,e?“.\ﬁe,-‘v *MW‘&M o‘ojg:-—-‘;g’“tp(l, %305

R ‘U_(’po\k 4 s \e_ \/\@,‘ue,wek Coi ‘\
fon e /? TS el LTS 0

\ P i <
@5\0@,3&& thak gLo@?: O whew 6400-Z200=0,
Yok s plen exther P20 gn |-%ze =0

ks Yoak epuddity tuplies P =220. Howe
Yo gowltbriv value s oL Ha popalottan ate
C=0 YRS P=72%0

0.4 U-Yz2e) DO Sor 0L PLLEO

(9,“6(3@\*9/15@3 o Cor @%ke,;» P>72%® w@<@
Yhe lolfer o4 whichors WW@Q CP@?W
| ca - be '%"C:
MHence %‘%‘\Q_\f >02g&—&aQ Haos &@e@z%&;
, \\kc}&cn—s,‘vkg/ Cor @/& velees @ with. 0<P<30.

W) T o shurlor woy) He populbion s
cgl—cwe,&é?u&; whew %\LEA; £0, 6~ e«gw;‘vf«fw‘()%,
Uﬁ\’k@\/\ P}‘Z_’%O 0.*’(?(\’%50\




toS} %&A L@‘{rg —F\«w&' \bé,% e o tule @

I(P/S B>t & s heree K yer=et
odl we mwandk B =Lt we weed o Qs
20 sotreky g L ¢d = - 2% = gl
Meace e choose Sl =2y wd
ws SE=Q0, ¢,

__f?

e orc\ude %GrS



